/'l the preview nmay not | ook correct on sone nachiens.
render the scene first. (F6 on the keyboard.)

/'l set the display resolution
$fn = 30;
/'l Quter Dia

/1 What follows are the dia of all the steps frominwards to outwards.

D = 45;

//1nner-nost dia

d = 19.9;

di = 23;

d2 = 27.2;

d3 = 31.3;

/I height of step 1 nmeasured fromtop to bottom
hli = 4.2;

/I height of step 2 measured fromtop to bottom
h2 = 2.7,

/1 main cylinder height

H=5;

hol esDia = 3. 4;

total Hol es = 6;

hol esPitchCircleDia = 32. 7 + hol esDi a;
/1 botom chanfer
chanfer = 0.5;

/1 sinple enough!
di fference()
{disc(); holes();}

nmodul e di sc()

//rotate the cross-section
rotate_extrude()

// make the half cross-section
pol ygon( poi nt s=[

[D2, 0],

[D2, H,

[d3/2, H,
[d3/2, h1],
[d2/2, hi],
[d2/2, h2],
[d1/2, h2],
[d1/2, hi],
[d/2, hi],

[d/ 2, chanfer],
[d/2 + chanfer, 0],

1);

/1 array of six holes.
nmodul e hol es()
for (i = [0:1:(total Holes-1)])

/'l make the over-long so that after cutting,
rotate((360 / totalHoles) * i, [0,0,1])translate([holesPitchCircleDial/2,0,0])cylinder(r
= holesDia / 2, h = H3, center = true);

In order to viewit correctly,

t he di splay | ooks fine.






